istn. kan. san. 2200 Rd=1,03

istn. gaz. 963 Ro=2,34

proJ. wod. 932 Rd=1,63

@)

[~ istn. kan. san. 160 Rd=1,70

@)

istn. kabel teletech. Ro=3,85

@)

do likw. wod. 2110 Ro=3,86

istn. kan. san. @160 Rd=4,00

@)

proj. wod. 232 Ro=3,86

istn. gaz. 932 Ro=5,37

@)

63 | 8

istn. kan. san. 80 Rd=7,06

stn. gaz. 232 Ro=7,39

stn. kabel energ. NN Ro=7,52

prof. wod. 232 Ro=6,60

()%

istn. kan. deszcz. 2120 Rd=6,41

s

istn. gaz. 932 Ro=7,98

istn. kabel teletech. Ro=8,29

do likw. wod. 2110 Ro=7,47

LY

proj. wod. 232 Ro=8,44

istn. kan. san. 160 Rd=8,46

A%

(4%

‘F istn. kabel teletech. Ro=2,32

istn. kan. deszcz. 2120 Rd=3,26

~Ajsfn. kabel energ, NN Ro=4,45
isih. gaz. =4,

4 proj. wod. 8110 Ro=5,69

A istn. kan. san. 875 Rd=6,30

ﬂ'\|sfn. kabel energ. NN__Ro=6,80

pro. wod. 5110 Ro=7.56

472 istn. kabel teletech. Ro=10,75

istn. kabel energ. NN_Ro=10.79

proj. wod. 2110 Ro=9,60
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